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Total Students Appeared = 5500
कुल सिàमͧलत छाğ = 5500

 Pie chart shows percentage distribution of 
total students appeared in six different shifts 
of an exam. 
पाई चाटª एक परी±ा कì छह अलग-अलग पाåरयŌ म¤ 
उपिÖथत हòए कुल छाýŌ के ÿितशत िवतरण को दशाªता 
है।
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18%

Total Students Appeared = 5500
कुल सिàमͧलत छाğ = 5500

Find average number of students appeared 
in shift I, II & IV of the exam. 
परी±ा कì पाली I, II और IV म¤ उपिÖथत छाýŌ कì 
औसत सं´या ²ात कìिजए।
(a) 1040   (b) 900   (c) 720   (d) 1140   (e) 880 
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I
20%

II
16%

III
24%

IV
12%

V
10%

VI
18%

Total Students Appeared = 5500
कुल सिàमͧलत छाğ = 5500

Find the central angle for students appeared in 
shift II of the examination. 
परी±ा कì पाली II म¤ उपिÖथत हòए छाýŌ के िलए क¤ þीय 
कोण ²ात कìिजए।
(a) 64.2 ̊   (b) 48 ̊   (c) 57.6 ̊   (d) 43.6 ̊   (e) 52.8 ̊
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I
20%

II
16%

III
24%

IV
12%

V
10%

VI
18%

Total Students Appeared = 5500
कुल सिàमͧलत छाğ = 5500

Find total number of students appeared in 
shift V & VI together of the examination. 
परी±ा कì िशÉट V और VI म¤ एकसाथ उपिÖथत हòए 
छाýŌ कì कुल सं́ या ²ात कìिजए।
(a) 1740   (b) 1600   (c) 1820   (d) 1960   (e) 
1540
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I
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II
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III
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IV
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V
10%

VI
18%

Total Students Appeared = 5500
कुल सिàमͧलत छाğ = 5500

Students appeared in shift III & IV together of 
the examination are what percent more or less 
than students appeared in shift I of the 
examination? 
परी±ा कì पाली III और IV म¤ सिÌमिलत िवīाथê, 
परी±ा कì पाली I म¤ उपिÖथत हòए िवīािथªयŌ से िकतने 
ÿितशत अिधक या कम ह§?
(a) 90%   (b) 80%   (c) 70%   (d) 50%   (e) 
60%
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II
16%

III
24%

IV
12%

V
10%

VI
18%

Total Students Appeared = 5500
कुल सिàमͧलत छाğ = 5500

Find ratio of students appeared in shift IV & 
VI together of the examination to students 
appeared in shift II & III together of the 
examination. 
परी±ा कì िशÉट IV और VI म¤ एक साथ उपिÖथत हòए 
छाýŌ का परी±ा कì िशÉट II और III म¤ एकसाथ 
उपिÖथत हòए छाýŌ से अनुपात ²ात कìिजये।
(a) 3:4   (b) 5:7   (c) 4:3   (d) 7:5   (e) None of 
the above
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I
20%

II
16%

III
24%

IV
12%

V
10%

VI
18%

Total Students Appeared = 5500
कुल सिàमͧलत छाğ = 5500

Students appeared in shift I & VI together of 
examination are how much more or less than 
students appeared in shift III & V together of 
examination? 
परी±ा म¤ िशÉट I और VI म¤ एकसाथ उपिÖथत हòए 
छाý, परी±ा कì िशÉट III और V म¤ एकसाथ उपिÖथत 
हòए छाýŌ कì सं´या से िकतने अिधक या कम ह§?
(a) 330    (b) 150     (c) 360      (d) 280     (e) 220
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What value will come in place of the question (?) mark?
ÿĳवाचक (?) िचÆह के Öथान पर ³या आएगा?

1. 5.55       2. 55.5           3. 50.5              4. 5.05              5. 50.05
RRB Pre
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@mathsbyanjan

What value will come in place of the question (?) mark?
ÿĳवाचक (?) िचÆह के Öथान पर ³या आएगा?

1. 2. 3. 4. 5. 
RRB Pre
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@mathsbyanjan

What value will come in place of the question (?) mark?
ÿĳवाचक (?) िचÆह के Öथान पर ³या आएगा?

𝟒

1. 16       2. 24           3. 32              4. 8              5. 64
RRB Pre
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What value will come in place of the question (?) mark?
ÿĳवाचक (?) िचÆह के Öथान पर ³या आएगा?

1. 1420     2. 1404      3. 1416      4. 1412        5. None of these

RRB Pre
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@mathsbyanjan

What value will come in place of the question (?) mark?
ÿĳवाचक (?) िचÆह के Öथान पर ³या आएगा?

1. 1180     2. 1200      3. 1240      4. 1220        5. None of these

RRB Pre
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In the table, the details of total number students and students in class 10 is given:
तािलका म¤, कुल छाýŌ और क±ा 10 म¤ कुल छाýŌ का िववरण िदया गया है:

School
Total Number of 

Students 
(Male + Female)

Total Number of 
Students (Male + 

Female) in class 10

Number of Females 
in Class 10

A 250 48 12

B 480 64 10

C 360 80 25
RRB Clerk Pre
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In school C, the number of female students in classes other than 10 is 101. What 
percent of student in school C are female?
Öकूल C म¤, 10 के अलावा अÆय क±ाओ ंम¤ मिहला छाýŌ कì सं́ या 101 है। Öकूल C म¤ िकतने ÿितशत 
छाý मिहला ह§?
A. 30%       B. 46%         C. 26%         D. 40%           E. 35%

School
Total Number of 

Students 
(Male + Female)

Total Number of 
Students (Male + 

Female) in class 10

Number of Females 
in Class 10

A 250 48 12

B 480 64 10

C 360 80 25
RRB Clerk Pre
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What is the difference between number of male students in class 10 of school A and 
that of school B?
Öकूल A और Öकूल B के क±ा 10 के पुŁष छाýŌ कì सं́ या म¤ ³या अंतर है?
A. 12      B. 18        C. 11       D. 16      E. 5

School
Total Number of 

Students 
(Male + Female)

Total Number of 
Students (Male + 

Female) in class 10

Number of Females 
in Class 10

A 250 48 12

B 480 64 10

C 360 80 25
RRB Clerk Pre
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In school A, there are only three classes 8th, 9th and 10th. If the respective ratio 
between the number of students (male + female) in class 8th and class 9th is 55 : 46. 
What is the number of student (male + female) in class 8th?
Öकूल A म¤, केवल तीन क±ाए ं8वé, 9वé और 10वé ह§। यिद क±ा 8वé और क±ा 9वé म¤ छाýŌ (पुŁष + 
मिहला) कì सं́ या का सबंंिधत अनुपात 55:46 है। क±ा 8वé म¤ छाýŌ (पुŁष + मिहला) कì सं́ या ³या 
है? A. 56       B. 165        C. 110           D. 132            E. 99

School
Total Number of 

Students 
(Male + Female)

Total Number of 
Students (Male + 

Female) in class 10

Number of Females 
in Class 10

A 250 48 12

B 480 64 10

C 360 80 25
RRB Clerk Pre
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In school B, the number of students (male + female) in classes other than class 10 is 
what % more than the number of students (male + female) in class 10?
Öकूल B म¤, क±ा 10 के अलावा अÆय क±ाओ ंम¤ छाýŌ (पुŁष + मिहला) कì सं́ या क±ा 10 म¤ छाýŌ 
(पुŁष + मिहला) कì सं́ या से िकतना % अिधक है?
A. 560%        B. 550%        C. 660%       D. 650%       E. 450%

School
Total Number of 

Students 
(Male + Female)

Total Number of 
Students (Male + 

Female) in class 10

Number of Females 
in Class 10

A 250 48 12

B 480 64 10

C 360 80 25
RRB Clerk Pre
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What is the respective ratio between the number of students (male + female) in class 10 
of school C and total number of students (male + female) in all class together of school 
B?
Öकूल C कì क±ा 10 म¤ छाýŌ (पुŁष + मिहला) कì सं́ या और Öकूल B के सभी क±ाओ ंम¤ कुल छाýŌ 
कì सं́ या (पुŁष + मिहला) का अनुपात ³या है?
A. 1 : 8       B. 1 : 9        C. 1 : 4        D. 1 : 6      E. 1 : 16

School
Total Number of 

Students 
(Male + Female)

Total Number of 
Students (Male + 

Female) in class 10

Number of Females 
in Class 10

A 250 48 12

B 480 64 10

C 360 80 25
RRB Clerk Pre
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What is average number of students (male + female) in class 10 of schools A and B?
ÖकूलŌ A और B के क±ा 10 म¤ छाýŌ (पुŁष + मिहला) कì औसत सं́ या ³या है?
A. 56      B. 58       C. 55      D. 52      E. 54

School
Total Number of 

Students 
(Male + Female)

Total Number of 
Students (Male + 

Female) in class 10

Number of Females 
in Class 10

A 250 48 12

B 480 64 10

C 360 80 25
RRB Clerk Pre
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In the following question two equations are given in variables x and y. 
You have to solve these equations and determine relation between x and 
y.//िनÌनिलिखत ÿĳ म¤ दो समीकरण चर x और y म¤ िदए गए ह§। आपको इन समीकरणŌ 
को हल करना है और x और y के बीच संबंध िनधाªåरत करना है।

I. 𝟐

II. 𝟐

A. x > y           B. x < y           C. x ≥ y           D. x ≤ y       
E. x=y or No relation can be established
कोई संबंध Öथािपत नहé िकया जा सकता है

RRB Pre
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In the following question two equations are given in variables x and y. 
You have to solve these equations and determine relation between x and 
y.//िनÌनिलिखत ÿĳ म¤ दो समीकरण चर x और y म¤ िदए गए ह§। आपको इन समीकरणŌ 
को हल करना है और x और y के बीच संबंध िनधाªåरत करना है।

I. 𝟐

II. 𝟐

A. x > y           B. x < y           C. x ≥ y           D. x ≤ y       
E. x=y or No relation can be established
कोई संबंध Öथािपत नहé िकया जा सकता है
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In the following question two equations are given in variables x and y. 
You have to solve these equations and determine relation between x and 
y.//िनÌनिलिखत ÿĳ म¤ दो समीकरण चर x और y म¤ िदए गए ह§। आपको इन समीकरणŌ 
को हल करना है और x और y के बीच संबंध िनधाªåरत करना है।

I. 
II. 𝟒

A. x > y           B. x < y           C. x ≥ y           D. x ≤ y       
E. x=y or No relation can be established
कोई संबंध Öथािपत नहé िकया जा सकता है
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In the following question two equations are given in variables x and y. 
You have to solve these equations and determine relation between x and 
y.//िनÌनिलिखत ÿĳ म¤ दो समीकरण चर x और y म¤ िदए गए ह§। आपको इन समीकरणŌ 
को हल करना है और x और y के बीच संबंध िनधाªåरत करना है।

I. 𝟐

II. 𝟐

A. x > y           B. x < y           C. x ≥ y           D. x ≤ y       
E. x=y or No relation can be established
कोई संबंध Öथािपत नहé िकया जा सकता है
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In the following question two equations are given in variables x and y. 
You have to solve these equations and determine relation between x and 
y.//िनÌनिलिखत ÿĳ म¤ दो समीकरण चर x और y म¤ िदए गए ह§। आपको इन समीकरणŌ 
को हल करना है और x और y के बीच संबंध िनधाªåरत करना है।

I. 𝟐

II. 𝟐

A. x > y           B. x < y           C. x ≥ y           D. x ≤ y       
E. x=y or No relation can be established
कोई संबंध Öथािपत नहé िकया जा सकता है
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Given below is the pie chart depicting the 
percentage distribution of total number of shirts 
sold by 5 stores in the year 2003. Total Number of 
Shirts Sold = 2800
नीचे िदया गया पाई चाटª वषª 2003 म¤ 5 दुकानŌ Ĭारा बेची 
गई शटª कì कुल सं́ या का ÿितशतवार िवभाजन का 
िचýण है। शट्ªस कì कुल सं´या = 2800

A
28%

B
10%

C
14%

D
32%

E
16%

Total shirts sold = 2800
बेची गई कुल शटª =2800
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Store D sold only two types of shirts formal and 
casual. If  the number of formal shirts sold by store D 
is 664, then what is the respective ratio between the 
number of formal and casual shirts sold by store D?
Öटोर D केवल दो ÿकार के शटª औपचाåरक और अनौपचाåरक 
बेचे। यिद Öटोर D Ĭारा बेची गई औपचाåरक शटª कì सं́ या 664 
है, तो Öटोर D Ĭारा बेची गई औपचाåरक और अनौपचाåरक शटª 
कì सं́ या का संबंिधत अनुपात ³या है?
A. 83 : 27     B. 83 : 21      C. 83 : 31    D. 83 : 29     E. 
83 : 19

A
28%

B
10%

C
14%

D
32%

E
16%

Total shirts sold = 2800
बेची गई कुल शटª =2800

RRB Pre
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If the average number of shirts sold by store C in 
2003 and 2004 is 343, then the number of shirts sold 
by store C in 2004 is what percent less than the 
number of shirts sold by the same store in 2003?
यिद 2003 और 2004 म¤ Öटोर C Ĭारा बेची गई शटª कì औसत 
सं́ या 343 है, तो 2004 म¤ Öटोर C Ĭारा बेची गई शटª कì सं́ या 
2003 म¤ उसी Öटोर Ĭारा बेची गई शटª कì सं́ या से िकतने 
ÿितशत कम है?
A. 20%       B. 35%       C. 30%        D. 15%        e. 
25%

A
28%

B
10%

C
14%

D
32%

E
16%

Total shirts sold = 2800
बेची गई कुल शटª =2800
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What is the difference between number of shirts sold 
by A and that by B?
A और B Ĭारा बेची जाने वाली शटª कì सं́ या के बीच ³या 
अंतर है?
A. 518       B. 498       C. 516      D. 496       E. 504

A
28%

B
10%

C
14%

D
32%

E
16%

Total shirts sold = 2800
बेची गई कुल शटª =2800
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What is the central angle correspondent to the 
number of shirts sold by D?
D Ĭारा बेचे गए शटª कì सं́ या के िलए क¤ þीय कोण ³या है?
A. 120.8° B. 112.4° C. 108.6° D. 124.4°
E. 115.2°

A
28%

B
10%

C
14%

D
32%

E
16%

Total shirts sold = 2800
बेची गई कुल शटª =2800
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Number of shirts sold by E increased by 50% from 
2003 to 2004 & decreased by 25% from 2004 to 2005. 
What is the number of shirts sold by E in 2005?
E Ĭारा बेची जाने वाली शटŎ कì सं́ या 2003 से 2004 तक 
50% बढ़ी और 2004 से 2005 तक 25% घट गई। 2005 म¤ E 
Ĭारा बेची गई शटŎ कì सं́ या ³या है?
A. 504          B. 488        C. 516           D. 498          E. 
518

A
28%

B
10%

C
14%

D
32%

E
16%

Total shirts sold = 2800
बेची गई कुल शटª =2800

RRB Pre
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In each of the following questions a number series is given. Only one 
number is wrong in this series. Find out that wrong number and taking 
this wrong number as the first term of the second series formed by 
following the same logic, find out the fourth term of the second series.
िनÌनिलिखत ÿÂयेक ÿĳ म¤ एक सं́ या ®ृंखला दी गई है। इस ®ृंखला म¤ केवल एक 
सं́ या गलत है। उस गलत सं́ या का पता लगाए ंऔर इस गलत सं́ या को, उसी तकª  का 
पालन करते हòए जो दूसरी ®ृंखला बनाई गई, उसका पहला पद लेते हòए, दूसरी ®ृंखला के 
चौथे पद का पता लगाए।ं

8            4               4               6              12              28            90

1. 18     2. 42     3. 21     4. 24      5. None of these
RRB PO Pre



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

In each of the following questions a number series is given. Only one 
number is wrong in this series. Find out that wrong number and taking 
this wrong number as the first term of the second series formed by 
following the same logic, find out the fourth term of the second series.
िनÌनिलिखत ÿÂयेक ÿĳ म¤ एक सं́ या ®ृंखला दी गई है। इस ®ृंखला म¤ केवल एक 
सं́ या गलत है। उस गलत सं́ या का पता लगाए ंऔर इस गलत सं́ या को, उसी तकª  का 
पालन करते हòए जो दूसरी ®ृंखला बनाई गई, उसका पहला पद लेते हòए, दूसरी ®ृंखला के 
चौथे पद का पता लगाए।ं

17     17.25      18.25      20.75      24.50        30.75

1. 23.75     2. 24.25    3. 24.50    4. 24.75     5. None of these
RRB PO Pre



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

In each of the following questions a number series is given. Only one 
number is wrong in this series. Find out that wrong number and taking 
this wrong number as the first term of the second series formed by 
following the same logic, find out the fourth term of the second series.
िनÌनिलिखत ÿÂयेक ÿĳ म¤ एक सं́ या ®ृंखला दी गई है। इस ®ृंखला म¤ केवल एक 
सं́ या गलत है। उस गलत सं́ या का पता लगाए ंऔर इस गलत सं́ या को, उसी तकª  का 
पालन करते हòए जो दूसरी ®ृंखला बनाई गई, उसका पहला पद लेते हòए, दूसरी ®ृंखला के 
चौथे पद का पता लगाए।ं

438           487           447           476           460            469

1. 485        2. 425        3. 475         4. 496          5. None of these
RRB PO Pre



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

In each of the following questions a number series is given. Only one 
number is wrong in this series. Find out that wrong number and taking 
this wrong number as the first term of the second series formed by 
following the same logic, find out the fourth term of the second series.
िनÌनिलिखत ÿÂयेक ÿĳ म¤ एक सं́ या ®ृंखला दी गई है। इस ®ृंखला म¤ केवल एक 
सं́ या गलत है। उस गलत सं́ या का पता लगाए ंऔर इस गलत सं́ या को, उसी तकª  का 
पालन करते हòए जो दूसरी ®ृंखला बनाई गई, उसका पहला पद लेते हòए, दूसरी ®ृंखला के 
चौथे पद का पता लगाए।ं

2           7           18           45           99            209            431

1. 172        2. 171        3. 174         4. 175          5. None of these
RRB PO Pre



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

In each of the following questions a number series is given. Only one 
number is wrong in this series. Find out that wrong number and taking 
this wrong number as the first term of the second series formed by 
following the same logic, find out the fourth term of the second series.
िनÌनिलिखत ÿÂयेक ÿĳ म¤ एक सं́ या ®ृंखला दी गई है। इस ®ृंखला म¤ केवल एक 
सं́ या गलत है। उस गलत सं́ या का पता लगाए ंऔर इस गलत सं́ या को, उसी तकª  का 
पालन करते हòए जो दूसरी ®ृंखला बनाई गई, उसका पहला पद लेते हòए, दूसरी ®ृंखला के 
चौथे पद का पता लगाए।ं

6           8           10           42           146            770            4578

1. 868        2. 8872        3. 858         4. 882          5. None of these
RRB PO Pre



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

Given line graph shows the number of students appeared from state A and state B in an 
examination.
िदए गए लाइन úाफ म¤ एक परी±ा म¤ राºय A और राºय B से छाýŌ कì सं́ या िदखाई गयी है।
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@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

Number of students appeared from state B in 2009 is about what percent of total 
students appeared from state A?
2009 म¤ राºय B से सिÌमिलत छाýŌ कì सं́ या राºय A से सिÌमिलत कुल छाýŌ का िकतना ÿितशत है?
(a)32        (b)30           (c)33           (d)28           (e)22
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@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

What is the difference between the total number of students from state A in 2004 and 
2005 together and those of state B in 2008 and 2009 together?
2004 और 2005 म¤ एक साथ राºय A और 2008 और 2009 म¤ एक साथ राºय B के छाýŌ कì कुल सं́ या 
के बीच अंतर ³या है?
(a)520         (b)580           (c)620            (d)720            (e)680
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@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

What is the ratio of number of students appeared in examination from state B in 2004 
,2006 and 2008 to the number of students appeared from state A in 2005,2007 and 2009?
2004 , 2006 और 2008, म¤ राºय B से और, 2005, 2007 तथा 2009 म¤ राºय A से सिÌमिलत हòए छाýŌ 
कì सं́ या का अनुपात िकतना है?
(a)73:55       (b)55:71          (c)79:15            (d)75:13           (e)13:85

260
320

420
660 540

440340
480

320

780

440

760

0

200

400

600

800

1000

2004 2005 2006 2007 2008 2009

A
B

RRB Pre



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

If in 2010 the number of students appeared from state A is increase by 10% and those from 
state B increased by 15% as compared to the number of students from respective states in 
year 2009,then what is the ratio of number of students from state A and state B in 2010?
यिद 2010 म¤ राºय A से छाýŌ कì सं´या म¤ 10% कì विृĦ हòई है और वषª 2009 म¤ संबंिधत राºयŌ के छाýŌ कì 
सं´या कì तुलना म¤ राºय B से 15% कì विृĦ हòई है, तो 2010 म¤ राºय A और राºय B से छाýŌ कì सं´या का 
अनुपात ³या है?
(a)287:439       
(b)285:437         
(c)289:437          
(d)433:189        
(e)242:437
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@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

What is the difference between average number of students from state A and state B?
राºय A और राºय B के छाýŌ कì औसत सं́ या म¤ ³या अंतर है?
(a)90           (b)60          (c)80          (d)70           (e)110
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@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

The ratio of the speed of Two trains is 5:8. Sum of their length is 660. The ratio of 
time taken to cross an Electric Pole by train A and B is 4:3. What is the difference 
between the length of two trains?
दो ůेनŌ कì गित का अनुपात 5: 8 है। उनकì लंबाई का योग 660 है। ůेन A और B Ĭारा इलेि³ůक 
पोल को पार करने म¤ लगने वाले समय का अनुपात 4:3 है। दो ůेनŌ कì लंबाई म¤ ³या अंतर है?
A. 50 m          B. 40 m           C. 60 m             D. 45 m            E. None of these

RRB Pre



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

There are four consecutive even integers. Sum of the reciprocals of the first two number 
is 11/60. Find the reciprocal of third largest number of the series.
चार øमागत सम सं́ याए ंहै। पहले दो सं́ याओ ंके ÓयÂुøम का योग 11/60 है। ®ृंखला कì तीसरी सबसे 
बड़ी सं́ या के ÓयÂुøम का पता लगाए।ं
A. 1/12            B. 2/14           C. 1/14           D. 2/13            E. None of these

RRB Pre



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

Given below table shows the number of cakes of five different types sold by a shopkeeper 
on four different days. Study the data and answer the questions that follow:
नीचे दी गई तािलका म¤ चार अलग-अलग िदनŌ म¤ एक दुकानदार Ĭारा बेचे गए पांच िविभÆन ÿकार के केक 
कì सं́ या को िदखाया गया है। डेटा का अÅययन कर¤ और उन सवालŌ के जवाब द¤ जो िनÌनिलिखत ह§:

Days/
Cake

A B C D E

Saturday 25 28 35 50 38

Sunday 35 65 48 42 47

Monday 38 60 40 24 29

Tuesday 46 54 55 44 30
RRB Pre



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

What is the ratio of number of cakes of type B sold by the shopkeeper on Saturday and 
Monday together to the number of cakes of type E sold by him on the same days?
दुकानदार Ĭारा एक साथ शिनवार और सोमवार को बेची जाने वाली ÿकार B के केक कì सं́ या उÆही िदनŌ 
म¤ उसके Ĭारा बेचे जाने वाले ÿकार E के केक कì सं́ या का अनुपात ³या है?
(a) 72:53        (b) 88:67       (c) 98:73        (d) 92:71        (e) 90:67

Days/
Cake

A B C D E

Saturday 25 28 35 50 38

Sunday 35 65 48 42 47

Monday 38 60 40 24 29

Tuesday 46 54 55 44 30
RRB Pre



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

What is average number of cakes of type C sold by shopkeeper on Saturday, Sunday and 
Tuesday?
दुकानदार Ĭारा शिनवार, रिववार और मंगलवार को बेचे जाने वाले ÿकार C के केक का औसत ³या ह§?
(a) 38         (b) 40        (c) 42         (d) 44         (e) 46

Days/
Cake

A B C D E

Saturday 25 28 35 50 38

Sunday 35 65 48 42 47

Monday 38 60 40 24 29

Tuesday 46 54 55 44 30
RRB Pre



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

The number of cakes of type D and E sold together on Tuesday is what percent of the 
number of cakes of type A & B sold together on Sunday?
मंगलवार को एक साथ िबकने वाले ÿकार D और E के केक कì सं́ या रिववार को एक साथ िबकने वाले 
ÿकार A और B के केक कì सं́ या का िकतना ÿितशत है?
(a) 72%          (b) 75%           (c) 74%           (d) 78%         (e) 80%

Days/
Cake

A B C D E

Saturday 25 28 35 50 38

Sunday 35 65 48 42 47

Monday 38 60 40 24 29

Tuesday 46 54 55 44 30
RRB Pre



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

What is the difference between the total number of cakes of all the given types sold by 
shopkeeper on Monday and the total number of cakes of all the given types sold by 
shopkeeper on Tuesday?
सोमवार को दुकानदार Ĭारा बेचे गए सभी ÿकार के केक कì कुल सं́ या और मंगलवार को दुकानदार Ĭारा 
बेचे गए सभी ÿकार के केक कì कुल सं́ या म¤ ³या अंतर है?
(a) 38          (b) 44           (c) 42          (d) 40            (e) 45

Days/
Cake

A B C D E

Saturday 25 28 35 50 38

Sunday 35 65 48 42 47

Monday 38 60 40 24 29

Tuesday 46 54 55 44 30
RRB Pre



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

If the number of cakes of type F sold by the shopkeeper in given four days is 25% more 
than the number of cakes sold of type D in all the four given days, then find the number 
of cakes sold of type F in all the given days.
यिद िदए गए चार िदनŌ म¤ दुकानदार Ĭारा ÿकार F के िबकने वाले केक कì सं́ या, िदए गए चार िदनŌ म¤ 
ÿकार D के िबकने वाले केक कì सं́ या से 25% अिधक है, तो सभी िदए गए िदनŌ म¤ ÿकार F के िबकने 
वाले केक कì सं́ या ²ात कर¤।
(a) 164            (b) 160            (c) 180            
(d) 200            (e) 240

Days/
Cake

A B C D E

Saturday 25 28 35 50 38

Sunday 35 65 48 42 47

Monday 38 60 40 24 29

Tuesday 46 54 55 44 30
RRB Pre
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@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

Thank You
धÛयवाद 


